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Topic:- BIOSCI PHD 52

1) On selfing an insect of Aa Bb genotype, what proportion of progeny will be recessive homozygows for atleast one gene?
[Question ID = 517]

1. 1/16 [Option 1D - 2062]

2. 1/14 [Option 1D = 2061

3. 7116 [Option D = 2064)

4. 9/14 [Option 1D - 2065]

Correct Answer -
& T/14 [Option ID = 2064)

2) A nonsense mutant A reverted to wild type. When this revertant was crossed with a wild type, few mutants with
phenotype ol & were detected again. This shows that the revertant was

[Question ID = S18]

1. A trnse revertant [Option 1D = B068]

I_ & suppresor mutation [Option 1D = 3047

3. A dominant mutation [Option 1D = 2068)
4. A regulator mutation [Option 1D = 2089)

Correct Answer -
# A suppressor mutation [Option 1D = 2047)

3) In terms of lac operon regulation, what happens when E. coll is grown in medium containing bath glucose and lactose?

[Question ID = 519]
1. Both CAP and the loc are bound to the DNA

[Option il = 200)
¥ CAP is bound to the DHA but the loc repressor & not

[Cotion iD= 2071]
3. Lac repressor is bownd to thel DHA but CAP 15 mot

[Option iD= 2072]
4. Medther CAP mor the loc repressor are bound to the DMA

[Option ID = 2071

Correct Answer --
& Mesther CAP mor the fac repressor are bound to the DHA

[Option ID = 2071

4] Intrinsic pathway of apoptosis is regulated by Bax and Bel2 wherein:
[Question ID = 520]

1. Bax stimulates apoptosis wiile Bo? inkibits apoptoss [Option 1D = 2074)

I_ Bax inhibits apoptosis while B! stimulates apoptosss [Option 1D = 2075)

3. Both stimulate apoptosts [Option D = 2076]

4. Both inhibit apoptosis [Option 10 = 3077)

Correct Answer -
& By stimulates apoptosis witle Bl inkibits apoptosss [Option 1D = 2074)

5) Parkinsen's disease is primarily due to degeneration of the:
[Question ID = 521]

1. Cortioospinal tract [Option 1D = 207E)
¥, Cerebellum [Option 1D = 2079

1. Globus pailidus [Option I = 2060

4. Sulstantia nigra [Option 1D = H0E1]

Correct Amswer =-
& Sulrctantis nigra [Option 1D - 2081]

&) Which one of the following is the most appropriate statement regarding folded proteins?

[Question 1D = 522]
S T e e T )

I_ Charged amino acid side chains are always burted [Option 1D =
3. Mion polar amino acid side chadns are seidom buried [ﬂm%ﬂa““hcm

4. Charged aming acid side chains are scidom buricd [Option 1D = J085]



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

:I » mmnkﬂrmﬂﬂmn - 2085)

l Firstranker's choice
7) Which of the following is NOT true about Mm com WWW. Fimmnhncm

[Question ID = 523]

1. They consist of secreted material bying outside of the bacterial cell wall [Option i) = 2085]
I_ They can prevent desiccation of bacteria cells [Option 1D = 20&T)

3. They are required for bacteria to grow normally in culture [Option (D = 20EE)

4. They help bacteria resist phagocytosis by macrophages [Option iD= 2089)

Comrect Amswer --
L T“h:g,lamreq.rn.-dl'u'hucherubu gm#rurrmllym:l.i.t.n.- [Clptru-n iD= .ll:ﬂ]

8) A patient suffering from pheumonia and tuberculosis was found to have very low CD4+T cells. In all probability the
PRIMARY causative infectious agent belongs to

[Question ID = 524]

1. Elebsiells famiy [Option 0 = 20%0]

I. mycobacterium family [Option iD= 20491]
1. Retrovirus family [Option 1D = 3093)

4. Streptocooos family [Option D = 2087]

Correct Answer --
% Betrovires family [Option 1D = 3050

9) A liwving microbe with reduced virulence that is used for vaccination is considered

[Question ID = 525]

1. A towoid [Dption 1D = 2094
¥. Dormant [Opticn 1D - 2095)
1. Atteruated [Option ID = 2096]
4. Denatured [Opticn |D - 2097)

Correct Answer -
& Atbenuated |l:l:ll:|-|:lll'| D=

10) Which of the following can be deseribed as a sequence that can be approximately thousand bpse pairs upstream oF
divwinstieam of a eukaryotje promaoter and inCreases gene expression as much as 200-fold.?
[Question ID = 526]

1. CAAT bax [Option 10 = 2098
1. Enfancer [Option 1D = 20599)
3. Insulator [Option 1D = 2100)
4. TATA bax [Opticn iD= 2101]

Correct Answer =-
# Enhancer [Option 1D = 20599)
11} Which interactions promote T cell anergy

[Question ID = 527]

1. CDO2B: CD44 [Option 10 = 210Z)
I. CD2B: CD&& [Option ID - 2103)
1. PD-1: BD-L1 [Option 1D - 2104]
4. CDA0-CO42L [Option D = 2105)

Correct Answer --
& PD-1: BD-L1 [Option ID = 2104]

12} Some peptides and proteins have been used as drugs. Which of the following statements is not true?

[ﬂuﬁthﬂn ID = 528]

. Protein drugs suffer a disadvantage in that they could produce an immune response.

[Option 10 = 210&]
I. Peptides and protedns generally show poor bioavailability

[Cotion iD= 2107)
1. Peptide drugs are musceptible to peptidase enzymes

[Option 1D = 2108
4. Peptide drugs are susceptible bo nuclesses

[Ootion 1D = 2109

Correct Answer --
& Peptide drugs are susceptible to nuclesges

[Option I - 210%] WWW. Firnlﬂnnknr.cmn
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I. One [Option ID = 2111]
3. Two [Option ID = 211Z)
4. Three [Option 1D = £111]

Correct Answer -
# Two [Option ID = 211Z)

14} The mammalian cocybe prior Lo sperm entry is arrested at what stage of cell division?

[Question ID = 530]
1. Prophase of mitosts [Option 1D = 2114]
I. Prophase of metcsis [Option 1D = 2115)

1. G phase of mitotic cell oycle [Option D = 2118)
4. Metaphase of meiosis 1l [Option 13 = 2117]

Correct Answer --
# Metaphase of meiosis |l [Option D = 2117)
15} Patient centered case management approach for the treatment of tuberculosis is:

[Question ID = 531]

1. BLOT [Optice ID - 2114]
1. DOTS [Option 1D = 2114]
1. ROT [Option 1D = 2120]
4. SOT [Opticn ID - 2121)

Correct Answer --
» DOTS [Option 1D = 211%]

16} Which of the following events occur during the stationary phase of bacterial growth?

F. Rise in cell number 5

0. Spore formation in somg Gram-positive bacteria such as Bacillus subtilis
R. Cell size increases in Gram-negative bacteria such as Escherichia coll
5. Growith rate of bacterial cells nearly equals their death rate

T. Decrease in peptidoghycan crosslinking

[Questhon ID = 532]
1. P, 0 and S anily

[Cotion iD= 2133)
. P, %and T anly

[Option 1B = 2121]
3. @, Rand S only

[Option iD= 2124]
4. P, Rand T onily

[Option 1B = 2125]
Correct Answer -
& P, and S only
[Option 1B = 2122]

17) The main function of muscle spindles is to:
[Question ID = 533]

1. Browvide the specialised membrane that holds mcotinic receptors [Option 1D = 2126]
I_ Act as stretch receptors [Option 1D = 2127)

3. Cause comtraction of the muscle [Option 1D = 2128]

4. Act as structural support for the musdies [Option D = 2129]

Correct Answer -
# Art as stretch neceptors [Option D = 2127)
18) This antihypertensive drug is contraindicated in patients with bilateral renal artery stenosis:

[Question ID = 534]
1. Clonddine [Option ID = 2130
2. Terazosin [Option iD= 2131)

]ﬁ'rl'edlpm [Epl:run 0 = .11.'I-ﬂ

4. Captopril [Option 10 = 2113] www.FirstRanker.com

Correct Answer -
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[Question ID = 535]
1. Lipoproteins

[Option D = 2134]
I slphai-acidic glyooproteins

[Cotion iD= 2115]
3. Albuwrmin

[Cotion iD= 211&)
4. Al of these

[Option ID = 2117]

Correct Answer --
» Al of these

[Option ID = 2117]

20) Example(s) of an effectively irreversible alpha-adrenergic receptor blocker.
[Question ID = 536]
. Phentolamime [Opticn 1D = 3138)

1

1. Phenouybenzamine [Option 1D = 3139]
3. Both [Option 1D = 2140)

4. Mether [Option iD = 2141]

Comect Answer -
# Phenoybenzamine [Option 1D = 2139)

21) Inclusion of a vasoconstrictor in the local anesthetic salution is least likely to prolong the action of:

[Question ID = 537]

- Procine [Option 1D = 2141)
- Mepivacaine [Option ID = 2143]
- Lidocaine [Option il = 2144]
- Buptvacaine [Option 1D = 2145

.hl.-H—-

Correct Answer -
# Buprracaine [Option D = 214

P

21) Cholestasks causes
[Question ID = 538]

. Jaundice [Option 1D = 2748)
. Decrease in serum balirubin [Option 1D = 2147)

1

X

1. Activation of cytochrome P-450 [Opeion 1D = 2148)

4. Inreased synihesis of clotting factors [Option 1D = 214%]

Correct Answer --
& Jaundice |l:':\:|l:|ur|. iD= .l'l-l-l&-]

23} Which of the following antibodies are present in mammalian cells
[Question ID = 539]

1. IgG, Ight. IgE, igh [Opticn D - 2150)

2. g6, igM. IgE, Igk [Option ID = 2151]

3. g, IgM, IgF, Ig [Option ID = 2152]
4. igG, kg0, igF, igE [Option 0 - 2151]

Correct Answer --
- I-gE I-g.lll.. I-gE- IgD ['I:lntu:rlltl 1151]]

24) Cytokine profile for Th2 Response includes
[Question ID = 540]

1. IL-4, IL-5 [Option ID = 2154]

I. IFN-gamma, IL-8 [Option 1D = 2155]

I IL-1, iFM-gamma [Option 1D = 2158

4_ IL-1, IL-& [Option D = 2157)

Correct Answer -
w IL-4, ||.5[-|:|pt|.:r||t| :I:15q]

25) Forward and Side Scatter in flow cytometry gives:
[Question ID = 541] WWW. Fimﬂlnnkar.cnm

1. Fluorescence enhanced by forward and side channels | Optin 10 = 2158]
I. Fluorescence guenched in forward and side channels ton 1D = 21
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® Relative sire and granularity of cell [Option 1D = 318&0]

26) The central cytokine that mediates allergic response s
[Question ID = 542]

- IL-5 [Option 1D = 2162]
- IFN-gamma [Option 1D = 2143)

1
?
1. -8 [Option 1D - 2164]
4. IL-13 [Option 1D - 2145]

Correct Answer -
® [FH-gamma [Dption ID = 2143)

27) botype matched antibody is used in Mlowcytometry to
[Question ID = 543]
. Check for specificity of stain of test antibody [Option 1D = 2188
- Check for auto-flucrescence of the cell [Option i = 21567
- Check for bleed over of muttiple fluophores [Option 1D = 2168]
- To set hedght of the histogram [Option iD= 21&5)

.h-l.-h-—-

Correct Answer --
# Check for specificity of stain of test antibody [Option iD= 2184)

]'.B} Which of the l'nllu'w'lng hexoses are not epimers?

H o He 0
—nﬂ Hn—\i ;. H—E

www.FirstRanker.com

ll:‘.'n—r;h]{
-0 H— —EH-] Hi
H—EH:IH H——0H
JOH
T —— b BLS - TOT
[Question ID = 544]

. Gluoose and manmose [0 0= 2170
- Glucose and Gulose [Option I = 2171])
. Glurcwe and Allose [Option 10 = 2173

.hl.-H—-

- Glucose and galactose [Option 1D = 2173

Correct Answer -

& Gluooee and Allose [Option 1D = 217E]

29) Mannich reaction involves the

[Questhon ID = 545]
1. Reactions between aldimines and o-metiylene carbonyls

[Option D = 2174]
I. amiro alkylation of 2n o-methylene carbonyls with formaldefwyde and ammonia

[Cotion iD= 2175)
3. Formation of B-aming-carborel compound

[Cption iD= 217&]
4. Al of these

[Option ID = 2177

Correct Answer --
& Al of these

[Option ID = 2177

30) Wang resin is one of the standard peptide synthesis resin uwSed with Frmoe  (flusrenylmethaoycarbomyl chloride)

chemistry, the structure of the resin s represented as:
[Cuestion ID = S46]

1. I-alkoeyberzyl alcohol functionalized polystyrene [Option iD= 217E]
I I-alkowybenmgl alcobol funchioralized polyving [Option D = 3179]
3. d-alkowybenzyl aloohol functionaltzed polystyrene [Option IR = 2183]
4. 4&-alkowybermyl aloohol functionaltzed polywing [Option D = 2181

Correct Answer --
o 4alkaeybermyl alcohol functionstized pabtyrene (oo MWWLEIrstRanker.com
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[Question ID = 547]

1. 105 2i5) [Option |0 = 218Z)
I 1(5); iRy [Option D = 21&3]
I 18 2S5 [Ootion 1D = 2184]
4. 1iR]:; R [Option D = 2185)

Correct Answer --
& 105); 2(%) [Option 1D = 218Z)

32) The probable "H MMR spectrum of 4-chiorotoluene | C-CaHCHx) will show 8 value at:
[Question ID = 548]
1. 5, 1.5 and d, 7.0-T.5 [Opeion D = Z184)

I t, 1.5 and m, 7.5 [Option ID = 2157
3. 5, 2.4 andd, 7.0-7.5 [Dption ID = T18H)

4. t, 2.4 and m, 7.5 [Option 1D = 3159

Correct Answer -
w 5, 1.4 and d, 7.0-7.5 [Option ID = T188)

33) Which of the following is correct representation of Hammett equation?
[Question 1D = 549]

1. Log (Ka'K} = 1/rs [Option 1D = 27590)

I Log (ks'k] = s/r [Option 1D = 2191]

3. Log (k/Egl = rfs [Option 1D = 2152]

4. Log {kikg) =rs [Option B - 2141]

Correct Answer -
® Log (k/kg) =rs [Option 1D = 2193]

34) Compound B, the smdlly component emitted by pulp mills, showed M* at m/z 62 and also at 63 and 64 in a
100:2.2:4.4 ratio. Fragmept peaks were seen at m/z 15, 32 and 47_The 1H NMR spectrum of comound B consisted of anly

a single peak. Which of t

[Question ID = 550]

1. Dt sulf ooride

[Cption iD= 21%4]
¥ Thioethanol

[Option ID = 2195]
3. hmetivyl mlphide

[Cption iD= 21%&]
4. Mome of these

[Option ID = 2157]

Correct Answer --
& Dhimethryl sulphide

[Option ID = 2196]

35) A common target enzyme lor non-stersidal anti-infllammatory drugs i
[Question ID = 551]

1. COK-2 [Option 1D = 2198]

. COK-2 [Option IO = 2199]

3. CHC-R [Option 1D = 2200]

4. CBK-2 [Option i - 2300]

Correct Answer -
& Q-2 [Dption 1D = 2198)

36) TseTse fly is the vector of the pathogen
[Question ID = 552]

1. ‘Wucherenia [Option 1D = ZH0Z)

¥. Trypancsoma [Dption B = 200

1. Plasmodium [Option ID = X304)

4. Leishmania [Option 1D = ZH05)

www.FirstRanker.com

Correct Answer =-
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orfentations. What is the term for this?
[Cuesthon ID = 553
- Pharmacodynamics [Option 1D = 2206]
- Pharmacokinetics [(ption 1D = 3307T)
- Bipizostere [Option 10 = F00E)
- Pharmacophore [Option i = 2204)

.hl.-H—-

Correct Answer --
# Pharmacophore [Option iD= 220%]

3B) Protein 5 will fold into its native conformation only when protein Q is present in the solution. However, protein O can
fold inte its native conformation without protein 5. Protein Q , therefore, may function as a for protein 5.
[Question ID = 554]

1. Ligand [Option 1D = 3270)

2. Molecular chapenone [Option 1D = 2211]

1. Protein precursor [Option 1D = 2313

4. Structural maotif [Option 1D = Z213)

Correct Answer -
® Molecular chapenone [Option 1D = 2211]

39) Which of the following molecules is commonly used as a fMluorophore?

[Question ID = 555]
1. Prenalphthlein

[Option il = ZE14]
I Fluoresoein

[Cotion iD= 2X15]
3. Bromoghenol blue

[Option iD= ZE1&)
4. Al of theze

[Option 1D = 2217

Correct Answer --
& Fluoresosin

[Option ID = 2215]

40) Mame of the monomer used to preduce Orlon is

[Question ID = 556]
- Wimydl cyanide [Option ID = 2218)
. Fomaldehyde + Phenol [Option 1D = 22149)
. Afipic acd + Hexamethylenediamine [Option 1D = 2220]
- Dimeethyd terephthalate + Ethydene ghyool [Option 1D = Z221)

.hl.-H—-

Correct Amswer =-
# Vimyl cyanide [Option ID - 2X1E]

41) Which of the following possess a SP-carbon in its strocture?

[Question ID = 557]
1. CH=COL-CH-CHy

[Opticn 1D - 2222
2. CHz=CH-CH-CHy

[Option ID = 22271
3. CHp=C-CHy

[Option 1D = 2724
4. CHy-CH=CH-CHSCOL,

[Option ID = 2225]

Correct Answer -
& CHeL-CH;

[Option 1D = 2274)
www.FirstRanker.com

42) Citral, a natural compound isolated from lemon grass oil is
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4. & carotencid [Option 1D = ZXH)

Correct Answer --
® & terpinoid [Option 1D = 32337F)

43) Arrange the following compounds in order of their decreasing boiling points
&) CHyCHzCHACHO,

b} CHyCHCH2CHLOH,

) HaCp-O-CiHs,

d) CH3yCHCHCHCH3

[Question ID = 559]

1.a=b=>c>d

[Option iD= 224]
P cxbra>d

[Cotion ID = 2311]
L azb>d>c

[Option iD= 2313]
4. brad>c

[Opticn iD - 2211

Correct Answer -
@ brard>c

[Option B = 2233]
44) CD is the difference Between the absorption of left and right handed circularly polarized light as a function of
wavelength. In the followipg (e=extinction, c=concentration, |= pathlength). Which one is incorredt?

[Question ID = 560]
1. CD=Dw/ [absorbance units j=dpgidegrees || 180 o)

[Option iD= 2254]
I CO= [ey il} - en iljjlc

[Cotion ID = 2315)
3. C0 = De i

[Opticn iD - 2134]
4 CD-ed

[Option 1D = 2337

Correct Answer --
& CD=Dw/[absorbance unitsj=-4pqidegrees 1| 180 Ing)

[Option ID = 2214

45) Pernicious anemia is caused by

[Questhon ID = 561]

1. Autm - antibodies to intrinsic factor [Option 1D = Z2TH)
I_ Auto - antibodies to vitamin By [Option 1D = 2239)

3. Autp - antibodies to RBC antigers [Option iD= X2ad)
4. Hone [Option 1D = Z341)

Comect Amswer -
& Auto - antibodies to intrinsic factor [Dption 1D = 333H)

46) Atopic individuals

[Question ID = 562]

1. Show increased semsitivity to allergens [Option 1D = 2247)

I. Are more prone tooauto-immane deorders [Option 1D - 22343]
1. &re resistant to bacterial infections [Option 1D = 2244]

4. Resistant to wiral imfections [Option 1D = 3245]

Correct Answer --

1llll;.w.l'l.vn.'.FIr:nlﬂalr'llmr.r.'n:m*'n

4 Show increased semsitivity Eo allergens [Option 1D = ¥
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. Freeze-drying 11 Secondary structure determination
b. Ultracentritugation [IV. Tertiary structure determination

www.FirstRanker.com

Choose the cormect answer from the options given below:

[Question ID = 563]

1. A-, B-0,C-N,0D-m
[Option iD= Tids)

P A-LB-W,C-m,D-N
[Option D = 3247

LOA-ILE-NL,C-W.D-I

[Option iD= T3]

4 K-, E-W, C-1,D-1
[Option ID = 2245]

Correct Answer -
& -, 8-, C-1,0-1

[Option 1D = 2249

48) are inhibitary interneurons which modulate motor functions by sharpening the signals and

secrete for exerting their function.
[Question ID = S64]

1. Renshaw cells; ghycime [Option ID = T150)

. Bed nuclei; L-Dopamine [Optfon 10 = Z550]

3. Gamma neurons; glycine [Option ID = 3353)

4. Alpha meurors; soetylcholine [Option 1D = X253

Correct Amswer =-
# EBenshaw cells; ghycime [Optioh 1D = X250)

49) Yeast two hybrid techrigue 15 used Tor the stody ol

[Question ID = 565]

1. Protein amd protein inkeractions

[Option 10 = 2254]
. DMA and Protein inberacbiors

[Option ID = 2355)
1. BHA amd Protein inberacticrs

[Option 1B = 2254]
4. All of these

[Option 1D - 2257]

Correct Answer -
& Protein and protein interactions

[Option ID = 2254]

50) Homeostatic regulation of feeding is controlled by
[Question ID = 566]

1. Hypothalamus and hind brain [Option 1D = 2258)

Z. Mid brain amd hind brain [Option 1D = X259)

1. Migher cortical regions and hind brain [Option 1D = Z260]

4. Limbic system [Option 1D = Z061)

Correct Amswer =-
® Mypottalamus and hind brain [Option iD = 215E)
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